H £ 0l & AF & S

Al A

028EE =4 2 3| dtg|H ==H
A FSH
M =00t Scte CHEIHE AE
chels FRIEHE #EANHIA (SH &)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
= 1,886,273 1,865,273 21,000
=010t Slotes tHeldE AlE 946,451 925,451 21,000
TS I NHIA 467,715 446,715 21,000
AL 22 180,814 162,814 18,000
201 fer= 3| 177,314 159,314 18,000
2 3522l 95,401 77,401 18,000
0222z £ HA 57,109 39,109 18,000
OFEAL 888= 52,200 34,200 18,000
. RS & 48,000,000 48,000 30,000 18,000
SHEZE 22| 118,000 115,000 3,000
201 fer23y| 118,000 115,000 3,000
02 S3=gHl 118,000 115,000 3,000
O332= % HAl 63,000 60,000 3,000
OsoEEE HMIIRS
3% 63,000,000 63,000 60,000 3,000




